FE fE H i E N = % S =
ART - 8H | RAeFAEHEEE R AGEY FEEHT T B2 i 2044
AH10R | XABREEIEFE LA BE THEMMHX 52— 264
5H29 - 30, 6H5+6H | 74—V 7 MNElLEREHE FRACHR B ShEN 72 T 5 414
5H12H | IREESBHEBFIHE FEEHTHT R 694
5H15H | IREEXIREEFIEE (BR) it 164
6H9 - 100 |MEEEEEHE FREHTHT R 604
TH5H | XIIABEEREFE Z oM AHE BIHERN —~¥ay—tvh— | 354
THTH | B BUFEIEOUERIEE FREHTHT R 224
9H9IH | BCAANEERRIBE FEERTHT R 474
9H25+26, 10A2+3H | 74—2V7NElsFREHE FRACHR AR dhEIFE 15 244
10425+ 26H | HiERdnags FRACTHBH A 1444
10H29H | fEl T EaIsmHE FEMEHTHT R fE il
12A8 - 9H | ESEEEHE REMEIT ] R AE 394
2H9H | IBE R = FEEHTHT R fE 6844
3H23 - 240 | AMEANEZE AL Bonesi REMEIT ] RS AE 244

3. HEEERZ I

FZAA22A~8H6H . #kZF 9H24 A ~12 A 17 A (C kg2 %)

ftFER2 W f 1) BEZER (N) MEZ2EE (N

TE W 2 3,677 ( 293) 3,182 ( 286)
FEEEBHE T HRFED 332 ( 97) 436 ( 61)
FEER R REZ T A Bl 359 ( 11) 453 ( 17)
I & 19 (0 43 (- 0)

I Kkt 198 ( 10) 193 ( 18)

Z T A 5 (C 0 5 (C 0

I C AU 118 ( 4) 118 ( 25)

I Pay 17 (0 15 (C 0

4. B

( INZRERITHEZERE T,

H H " 4
4H27H T B FENE = o — A SR EAAR ( B5H 5)
6H22H FHBFENE = o — A% SEREAT ( TH B
8H23H T B FENE = o — A SR EAAR ( 9OH 5)
10H22H FHBY FEE = o — A& S AR (11 A )
12H24H T B FENE = o — A SR EAAR (1A 5)
2H21H FHBFENE = o — A% SEREAT ( 3H B)
8 B S i R L — BT




